South East Asian J. of Mathematics and Mathematical Sciences Vol. 17, No. 2 (2021), pp. 93-96

ISSN (Online): 2582-0850

ISSN (Print): 0972-7752

BASIC ANALOGUE OF STIELTJES TRANSFORM AND ITS PROPERTIES

Sunil Singh and Mohmmad Shahjade*

Department of Mathematics, Dr. Homi Bhabha State University, The Institute of Science, Mumbai - 32, INDIA

E-mail : sunilsingh@iscm.ac.in

*Department of Mathematics, MANUU Poly. 8th Cross, 1st Stage, 3rd Block, Nagarbhavi, Banglore - 72 INDIA

E-mail : mohammadshahjade@gmail.com

(Received: Jun. 12, 2020 Accepted: Jun. 08, 2021 Published: Aug. 30, 2021)

Abstract: In this paper, basic analogue of Stieltjes transform has been established. Properties of basic Stieltjes transform have been also discussed.

Keywords and Phrases: Stieltjes transform, Gauss's hypergeometric series, basic hypergeometric series, ordinary binomial theorem, basic binomial theorem.

2020 Mathematics Subject Classification: 44A10, 47D03.

1. Introduction, Notations and Definitions

Gaussian hypergeometric series is defined as,

$${}_{2}F_{1}[a,b;c;z] = \sum_{n=0}^{\infty} \frac{(a)_{n}(b)_{n}z^{n}}{(c)_{n}n!},$$
(1.1)

where $(a)_n = a(a+1)...(a+n-1) = \frac{\Gamma(a+n)}{\Gamma(a)}$, and $(a)_0 = 1$. For the convergence of the series (1.1), |z| < 1 is needed. Confluent hypergeometric series is defined as,

$$_{1}F_{1}[a;b;z] = \sum_{n=0}^{\infty} \frac{(a)_{n} z^{n}}{(b)_{n} n!},$$
(1.2)

where for convergence $|z| < \infty$ i.e. the series (1.2) is convergent in the whole complex plane. Binomial theorem is defined as,

$${}_{1}F_{0}[a; -; z] = (1 - z)^{-a},$$
(1.3)

provided |z| < 1.

Basic hypergeometric series is defined as,

$${}_{2}\Phi_{1}[a, b, c; q; z] = {}_{2}\Phi_{1} \left[\begin{array}{c} a, b; q; z \\ c \end{array} \right]$$
$$= \sum_{n=0}^{\infty} \frac{(a; q)_{n}(b; q)_{n} z^{n}}{(c; q)_{n}(q; q)_{n}}, \quad |z| < 1,$$
(1.4)

where $(a;q)_n = (1-a)(1-aq)...(1-aq^{n-1}), n = 1, 2, 3, ... and <math>(a;q)_0 = 1, (a;q)_{\infty} = \prod_{r=0}^{\infty} (1-aq^r). {}_2\Phi_1$ series given in (1.4) is the basic analogue of ${}_2F_1$ series given in (1.1). Taking b = c in (1.4) we have,

$${}_{1}\Phi_{0}[a;-;q;z] = \sum_{n=0}^{\infty} \frac{(a;q)_{n} z^{n}}{(q;q)_{n}}, \quad |z| < 1,$$
(1.5)

which is the basic analogue of (1.3). Basic binomial theorem is given as,

$${}_{1}\Phi_{0}[a;-;q;z] = \sum_{n=0}^{\infty} \frac{(a;q)_{n} z^{n}}{(q;q)_{n}} = \frac{(az;q)_{\infty}}{(z;q)_{\infty}}, \text{ where } |z| < 1.$$
(1.6),

2. Generalized Stieltjes Transform and its Basic Analogue

The Stieltjes transform comes out naturally by repeated application of Laplace transform. If

$$g(s) = \int_0^\infty e^{-su} \Phi(u) du, \qquad (2.1)$$

where

$$\Phi(u) = \int_0^\infty e^{-ut} g(t) dt, \qquad (2.2)$$

then

$$g(s) = \int_0^\infty e^{-su} \left\{ \int_0^\infty e^{-ut} g(t) dt \right\} du.$$
(2.3)

If the integral are convergent then

$$g(s) = \int_0^\infty g(t) \left\{ \int_0^\infty e^{-(s+t)u} du \right\} dt$$

=
$$\int_0^\infty \left[-\frac{e^{-(s+t)u}}{(s+t)} \right]_0^\infty g(t) dt$$

=
$$\int_0^\infty \frac{g(t)}{s+t} dt$$
 (2.4)

(2.4) is the special case of the general Stieltjes transform, which is defined as

$$g_{\alpha}(s) = \int_0^\infty \frac{g(t)}{(s+t)^{\alpha}} dt, \qquad (2.5)$$

provided g(t) is bounded in the interval $[0, \infty]$ and $Re(\alpha) > 0$. Taking $z = -\frac{t}{s}$ in (1.3) we have

$${}_{1}F_{0}\left[\alpha; -; -\frac{t}{s}\right] = \left(1 + \frac{t}{s}\right)^{-\alpha} = \frac{s^{\alpha}}{(s+t)^{\alpha}}, \text{ provided } \left|\frac{t}{s}\right| < 1.$$
(2.6)

From (2.5) and (2.6) we have

$$g_{\alpha}(s) = s^{-\alpha} \int_0^{\infty} {}_1F_0\left[\alpha; -; -\frac{t}{s}\right] g(t)dt.$$
(2.7)

(2.7) can also be expressed as

$$g_{\alpha}(s) = s^{-\alpha} \int_0^{\infty} {}_2F_1\left[\alpha,\beta;\beta;-\frac{t}{s}\right]g(t)dt.$$
(2.8)

Replacing $_1F_0$ series in (2.7) by its basic analogue (1.5), we get the basic Stieltjes transform as

$$g_{q,\alpha}(s) = s^{-\alpha} \int_0^\infty {}_1\Phi_0\left[\alpha; -; q; -\frac{t}{s}\right] g(t)d_q(t).$$

$$(2.9)$$

The integral in (2.9) is q-integarl defined as [Gasper and Rahman: 1; (1.11.4), p.10],

$$\int_{0}^{\infty} f(t)d_{q}t = (1-q)\sum_{n=-\infty}^{\infty} f(q^{n})q^{n}.$$
 (2.10)

3. Certain Properties of Basic Stieltjes Transform

In this section we shall discuss certain properties of q-Stieltjes transform. Making use of (1.6) in (2.9) we find,

$$g_{q,\alpha}(s) = s^{-\alpha} \int_0^\infty \frac{\left(-\frac{\alpha t}{s};q\right)_\infty}{\left(-\frac{t}{s};q\right)_\infty} g(t) d_q t.$$
(3.1)

Making use of (2.10) in (3.1) we obtain

$$g_{q,\alpha}(s) = \frac{(1-q)}{s^{\alpha}} \sum_{n=-\infty}^{\infty} \frac{\left(-\frac{\alpha}{s}q^{n};q\right)_{\infty}}{\left(-\frac{q^{n}}{s};q\right)_{\infty}} g(q^{n})q^{n}$$
$$= \frac{(1-q)}{s^{\alpha}} \frac{\left(-\frac{\alpha}{s};q\right)_{\infty}}{\left(-\frac{1}{s};q\right)_{\infty}} \sum_{n=-\infty}^{\infty} \frac{\left(-\frac{1}{s};q\right)_{n}}{\left(-\frac{\alpha}{s};q\right)_{n}} g(q^{n})q^{n}.$$
(3.2)

For $\alpha = 1$, (3.2) yields

$$g_{q,1}(s) = \frac{(1-q)}{s} \sum_{n=-\infty}^{\infty} g(q^n) q^n.$$
(3.3)

For $\alpha = q$, (3.2) gives

$$g_{q,q}(s) = \frac{(1-q)}{s^q \left(1+\frac{1}{s}\right)} \sum_{n=-\infty}^{\infty} \frac{\left(1+\frac{1}{s}\right) g(q^n)}{\left(1+\frac{q^n}{s}\right)} q^n$$
$$= \frac{(1-q)}{s^q} \sum_{n=-\infty}^{\infty} \frac{g(q^n)}{\left(1+\frac{q^n}{s}\right)} q^n.$$
(3.4)

Putting $\alpha = 0$ in (3.2) we find,

$$g_{q,0}(s) = \frac{(1-q)}{\left(-\frac{1}{s};q\right)_{\infty}} \sum_{n=-\infty}^{\infty} \left(-\frac{1}{s};q\right)_{n} g(q^{n})q^{n}.$$
(3.5)

These are certain interesting special cases of basic Stieltjes transform. For details about the Stieltjes transform one is referred [2].

References

- Gasper G. and Rahman M., Basic hypergeometric series, Cambridge University Press, (1991).
- [2] Murrey Rognlie D., Generalized integral transforms, Ph.D. thesis submitted to Lowa State University, Ames, Lowa (1969).